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2. 79 &%

ASSE, Code of Ethics for the Safety Profession, American Society of
Safety Engineers, adopted by the ASSE Assembly in 1974., 1974

BCSP, CODE OF ETHICS AND PROFESSIONAL, Board of Certified
Safety Professionals(BCSP), Adopted by BCSP in October 2002.,
2002

ISHM, ISHM Code of Professional Conduct,

https://www.ishm.org/ishm-code-professional-conduct , 2012
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ABSTRACT

A Perception Survey on Professional Ethics for Members of

Korean Society of Safety

Ji-Yun Ha
Major in Industrial Hygiene Engineering
Dept. of Industry & Health Engineering
Graduate School of Occupational Safety
and Health

Hansung University

The study was conducted to survey the perceptions and opinions
of safety professionals for the safety professional ethics. Written
survey questionnaires were distributed to participants in the Korean
Society of Safety Annual Conference in May 2012. Total 121
questionnaire were collected.

Results of this study were as follows.

Sixty two respondents reported that they are suffered from stress
related to ethical matters during their job. Fifty one percentage of
respondents are suffered from this stress more than once a week.

Most safety professionals (929 respondents) believed that safety
professionals should have higher morale and ethical standard and
behavior than the general public.

Most safety professionals believed that education for vocational
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ethics would help safety professionals to deal with the ethical dilemma.
Eighty six percentage of respondents agreed to introduce education for
vocational ethics for safety professionals. Only 7.49 disagreed the
introduction of education for ethics.

Most respondents (77%) agreed to introduce the Cannon of

Professional Ethics or Code of Ethics. Most safety professionals

preferred introduction of legal regulation for professional ethics.

[Key Word] professional ethics, cannon of ethics, code of
ethics, safety professionals ethics, safety ethics, vocational ethics
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